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This abacus shows 3 thousands, 5 hundreds, 5 tens and 6 units. 

 

The number is written  3 556 

 

In words: three thousand, five hundred and fifty six. 

 

Write down what the abacus shows for this: 
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Let's see - it 

looks like 7 

units. 
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What numbers do these show?  

Write the answers IN FIGURES and then IN WORDS. 
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I'm getting the hang of 

this now - quite easy 

really! 
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1a.  six thousand, four hundred and twenty seven  

 
1. 5 338    five thousand, three hundred and thirty eight 
2. 6 548    six thousand, five hundred and forty eight 
3. 3 929    three thousand nine hundred and twenty nine 
4. 6 656    six thousand, six hundred and fifty six 
5. 8 906    eight thousand, nine hundred and six 
6. 4 536    four thousand, five hundred and thirty six 
7. 6 660    six thousand, six hundred and sixty 
8. 5 060    five thousand and sixty 

 

 

 

 

 

 

 

 

 

 

 


